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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Rozruch 01 VII 2013
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Rozruch 01 VII 2013
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Rozruch 01 VII 2013
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Lipiec 2013

Sierpień 2013

zimna redukcja 2013-08-28 2.JPG Q = 178 m3/h  P1 = 4,8 MPa  P2 = 269 kPa

Q = 224 m3/h  P1 = 5,0 MPa  P2 = 265 kPazimna redukcja 2013.07.25 godz 8.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Wrzesień 2013

Październik 2013

zimna redukcja 2013-10-04 1.JPG Q = 689 m3/h  P1 = 4,0 MPa  P2 = 255 kPa

Q = 575 m3/h  P1 = 4,2 MPa  P2 = 237 kPazimna redukcja 2013-09-27.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Październik 2013

Q = 525 m3/h  P1 = 5,0 MPa  P2 = 271 kPa

Q = 525 m3/h  P1 = 5,0 MPa  P2 = 271 kPa

zimna redukcja 2013-10-25.JPG

zimna redukcja 2013-10-25 1.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Listopad 2013

Q = 805 m3/h  P1 = 4,6 MPa  P2 = 251 kPa

Q = 805 m3/h  P1 = 4,6 MPa  P2 = 251 kPa

zimna redukcja 2013-11-29.JPG

zimna redukcja 2013-11-29 1.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Grudzień 2013

Q = 848 m3/h  P1 = 4,4 MPa  P2 = 261 kPa

Q = 848 m3/h  P1 = 4,4 MPa  P2 = 261 kPa

zimna redukcja 2013-12-05 2.JPG

zimna redukcja 2013-12-05.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Grudzień 2013

Q = 848 m3/h  P1 = 4,4 MPa  P2 = 261 kPa

Q = 848 m3/h  P1 = 4,4 MPa  P2 = 261 kPa

zimna redukcja 2013-12-05 1.JPG

zimna redukcja 2013-12-05 3.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Grudzień 2013

Styczeń 2014
Q = 646 m3/h  P1 = 4,8 MPa  P2 = 271 kPa

Q = 886 m3/h  P1 = 4,6 MPa  P2 = 262 kPa

zimna redukcja 2013-12-27.JPG

zimna redukcja 2014-01-15 1.JPG
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Olsztynek   Zimna   Redukcja
Wymagania użytkownika: Qmax = 1 000 m3/h  Qmin = 30 m3/h

MOP = 5,5 MPa     P1 min= 3,0 MPa     P2 = 260 kPa

Styczeń 2014

Q = 859 m3/h  P1 = 4,4 MPa  P2 = 280 kPa

Q = 886 m3/h  P1 = 4,6 MPa  P2 = 262 kPa

zimna redukcja 2014-01-13 1.JPG

zimna redukcja 2014-01-15.JPG
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